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TEST I

Do SEVEN of the following questions
1.
What role did increasing productivity play in changing social and economic institutions in a communal, slave, and feudal societies?

2.
What are property rights and why do they emerge?

3.
List and explain the features of the four institutions of society under feudalism and 

contrast them with the four institutions of society under capitalism.

4.
What is the Christian paternalist ethic under feudalism and how did it change under capitalism?

5.
What were the Poor Laws?  What wee workhouses?  How did the Poor Laws and workhouses create a labor market in England?

6.
How did government support capitalism in the US in the 19th Century?

7.
Why did big business and monopoly emerge in the US in the latter part of the 19th Century?

8.
What is government’s role in stabilizing capitalism?  Discuss 

9.
Identify and describe the four components of Classical Liberalism?

10.
According to Thomas Malthus, whose fault is poverty and why?

11.
If it takes 80 units of corn and 30 units of labor power to produce 150 units of corn, then if the subsistence wage for workers is one unit of corn for each unit of labor power, then how much profits will the capitalist make and what will be the rate of profits?  If the subsistence wage for workers increases to two units of corn for each unit of labor power what happens to profits and the rate of profit?  If the subsistence wage for workers decreases to one-half unit of corn for each unit of labor power, what happens to profits and the rate of profit?  Describe the relationship between the rate of profit and the subsistence wage.  

12.
What is the labor theory of value and how does it explain the origin of profits?
13.
In what ways do neoclassical and Marxian economics differ in their explanation of capitalism?

14.
According to Thorstein Veblen, why is capitalism a predatory institution?
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TEST II
I.
Production, Costs, and Perfect Competition:  Firm in the Short Period

a.
data



(1)
K = 7 and the price of capital = $2.00



(2)  quantity produced  0   1   2   3    4    5    6    7



        labor input            0   2   5   9  14  20  27  35



        price of labor = $2.00


b.
questions



(1)
Derive the ATC, AFC, AVC, and MC curves.



(2)
Derive the marginal product schedule for labor and show why it makes the marginal cost curve slope upward.



(3)
If the market price is $12.00, how would the firm supply and what would be its economic profits?



(4)
If the market price is $2.00, how much would the firm supply and what would be its economic profits?


(5)
Derive the firm’s supply curve and explain its shape.

II.
Monopoly
1.
a.
data

quantity    demand      quantity   total

          demanded    price       supplied   costs

                 0            20               0           10

                 1            18               1           14

                 2            16               2           20

                 3            14               3           30

                 4            12               4           42

                 5            10               5           56


     6
         8

  6           72


b.
questions


(1)
Derive the marginal revenue and marginal cost schedules.



(2)
Determine the monopolist's profit maximizing price, quantity, and economic profits.



(3)
Why is this position an equilibrium position for the monopolist?

2.
Can a monopolist make economic profits in the long period?  Why or why not?

3.
Why will the monopolist's maximum economic profits always occur in the elastic segment of its demand curve?

III.
Do THREE of the Following Questions

1.
What role does the price mechanism play in a laissez-faire economy?

2.
Why is it not possible for the firm to have a long period supply curve if it has a downward sloping ATC curve?

3.
Assume that the firm has a constant marginal cost curve.  Illustrate by a diagram the situation in which the firm has an increase in demand that results in it increasing its quantity supplied while at the same time its price does not change.  What does this example imply about the existence of a firm supply curve?

4.
The price mechanism in terms of supply and demand curves works in the short period but not in the long period.  Explain.

5.
The full cost price is not set by equating marginal cost to marginal revenue.  What 

implications does this have for the economic theory you have learned in this course?

6.
What impact does the absence of the supply curve outside of perfect competition have on the 


price mechanism for the allocation of scarce resources in a laissez-faire economy?

7.
Briefly describe the Robinson Crusoe metaphor underpinning neoclassical economics.

8.
Explain the assumptions made about consumers used to build consumer demand theory.

9.
Explain the difference between production in the short run and production in the long run.
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FINAL EXAM

I.
Consider the following economy:
       
Price Model                            Quantity Model


.5p2 + 1w1 + pm1 = p1

.4Q2 + Q*1 = Q1

.4p1 + 1w2 + pm2 = p2

.5Q1 + Q*2 = Q2

a.
assume that w1 = w2 = $2.00 and pm1 = pm2 = $2.00, determine p1 and p2.


b.
assume that Q*1 = 10 and Q*2 = 15, determine Q1, Q2, and L.


c.
using the answers in (a) and (b) determine gross and net national product, net national 

income, the wage share in net national income, and the profit share in net national

income.


d.
what factors affect the distribution of the net national income between wages and 
profits and what factors affect output and employment.  If you wanted to increase employment, improve the living standards of those employed but not have any inflation, what would you do and why?

II.
Do FIVE of the following questions
1.
What is the heterodox explanation of the social provisioning process?

2.
Neoclassical economists argue that goods have only a subjective (or personal) use-value 

dimension; heterodox economists argue that goods have both use-value and social dimensions.  Discuss.
3.
In terms of heterodox economics, what implications does technical change and vintage 
technology have for the cost structure of the business enterprise?

4.
From a heterodox perspective, why do business enterprises prefer administered prices as 


opposed to highly flexible prices?

5.
From a heterodox perspective, why does destructive price competition drive enterprises to 


establish market institutions that would eliminate price competition?

6.
In what ways can the business enterprise be seen as a capitalist institution? 

7.
Are there any limits or constraints on the enterprise’s ability to grow and change?  Discuss.
8.
The regulation of market activity by laws and other means of government is a competitive strategy often adopted by business enterprises.  Explain.
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